EARAROBEEIERT — 2 N— IBISH —F

2018%3H9H (&) 19EIAH#5H

KW > % 3% 135AL210AkKE

‘ [Ri&] & ‘ [REBE] — | & (£) 16000 FE

[A~&£] 1 7% :1,600,000  ~ 237 :640,000 0

3 j& 1 400,000 @

4 7 240,000 B 5 3& : 160,000 M

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

N @R 144, -2~ . — BRE (KH)

1171 9 4—rHF % 3 it 1(4_4)9 2-2-2-2 | 40.6 7 (4_815) gt
L:TLAI5T7I8 B TN—=T0FTS547 FUFT7— L
et o i 3 | KR 1:45.0 7-7-6-5 | 40.1| — 2 427 | BIRE (K3H)
2011 | NXM>T=TUzA 54.0 (1/2) o) | T
LNNLVTSY BINITF—L & %
N . . s 3 | mEY 1:45.5 4-3-3-3 |41.2| — 5 452 | ARIZEE (K3H)
3lgl10/ 7V AJT-ILR 5.0 21/2) © |FE-#
RibFr LR BiArbhU-——%> Wm eE
NN FEZ : -1-1- — $AREZ (KH)
T —RAKRIN— 4 3 oy 1(;;51:5 1-1-1-1 | 41.2 8 zgg) =
R:VZAE—3IZXE— BT —INAEH- INEFAKIS

S wyae . )13 145, -3-4- . — 1ESRIGHD (Z\#K)
Ay Y R=X "3 o 1(415)7 Foas o 1 gg o B
L.vrsnjoq4 BZrrFiF =[ok:tie]

N . = el |5 At :46. -11-9- . — BRE (KH)
d—ILRHS— SR by | T e ° ?_7; B
LNNVTSY BY N/ TxT—K WwAx &7

. 4 3 | AHEE 1:46.7 9-9-8-9 |41.7| — 6 445 | BRA—FR (KH)
1vFay 56.0 2 1/2) © | HE#H=
L:a—-Lvisr4o B:T7EVT vy Il #$=

. A= . -y = BREfE= (K#)
glgl11 HYFHTLAIN— 4 3 543 1.(427).1 6-5-4-5 |42.8 4 51_3;) e
L:7A7% BiN—=Y v T— B 5
= = . i3 | WAk 1:47.9 5-6-6-7 |43.2| — 1 445 | BB (KH)
9l7|8| 7771 —> .0 (4) (-3) A2 BF
R:d—ILRAqA— B:v kU7 BALBRS
o EIHEER :48. -9-11- . — SiEEE (KH)
1w0lsls ZTAINS—=T R 4 3 .oﬁ 1(44?)7 9-9-11-11 | 43.6 10 (4_93 /—_/\:F‘{;:F
R:YPKYTYRIZR B:RH—Ly bRE— HET7—L
# 3 | BEX 1:48.8 7-8-10-10 |43.7| — | 9 | 451 |METE:H (k)
11 3 t—2oL—by LA 56.0 (3/4) (+5) 2 EF R
L:v—NFAY>F— B:TF7%y hT—ILK EANILBES S
@ 1 — S —EBlIEf
13—7+— 6,9,4,10,8,11,(1,3),(2,5),7
2= = 6,9, (4,10),11,8,1,3,(2,5),7
Jol=5r= 6,9,10, (4,11),(1,8),2,7,3,5
43—F— 6,9,10,4,(1,11),(7,8),2,3,5
[ N3
B OB 9 2,330 74K 1-9 2,320 % E 1-7 8,150M 3EHE 1-9-10 33,220
8 B 9 590M 9-10 3,790 P B 7-1 21,110H K31 9-1-10 271,410
1 1909 1-10 1,150 B & 1-9 8,160/
10 270M B 9-1 24,390

ABICOVWTRDTEEERROODE. TR LIV,




